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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
-] v 2o T 7S ¢
a)  What is empty class?
WS (A I A0 2

b)  Why does negative proposition distribute its

predicate term?
e TR (AR AT oAy 2 (el 2

c) What is categorical proposition?
f=ICo o FICF AT 2

d) What is meant by ‘Fallacy of affirming the

consequent’?

TONE FFE Gfero (T &0 F QR 2
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g)

h)

i)
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What is material obversion?
@S RS I I 2

Convert the following proposition:

BISIRISIFEISIE ISR

There are white tiger.

RIGRIERCI Y

What is inference by opposition of
proposition?

TR Sl 10 2

What is validity?

(AS] IS F (AR 2

IfA, B and C are false statements and X, Y and

Z are true statements, determine the truth-

value of the following:

T A, B g% C-a3 317 79 &7 98 X, Y G Z-491
= 2 77, e Foae aa werEy e
Al e

AV Y D ~ET)

‘Roses are fragrant’— express this sentence by

Venn diagram.

‘CalleTio Rl 2 Foifr— IRJIOE (eAbead AR
baifire S|
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k)

D

When a hypothetical statement is true and
when it is false?

F G0 GFHF T4 Moy 27 @R FA (A e
277

What is statement forms?

IFIT FICF =12

What is induction leap?

SICANZETE FAF 2
What is the practical importance of analogical

argument?

T e T ol 2

Show the symbolic form of the method of

concomitant variation.

oA Amfod JiHfes Sl @2

Answer any four questions: 5%x4=20

@-CFI 51 & Ted e ¢

a)
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What is obversion? Give the obversion of the

following sentences: 1+2+2

e i a1 2 e Amelerm s s ¢

1)  All are not saints that go to temple.
FH(AZ Y 7 A T |

i1)  Ifitis orchid, then it will not be fragrant.

Ifr @b wfFe 237, oz 27 =@ 1t Jaif |
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b)

d)
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What is the fallacy of undistributed middle?

S (YT FICP A= 2

Using the truth-table method determine
whether the following statement forms are

tautology, self-contradiction or contingent:

FOPARN A& od AR e paee o),
FoA 3R Ssfes el @I fefa e

) (pvy>s(@-9
11) {Po>(qvr} o {(q.r)v~p}

Test the validity of the following syllogisms

by means of Venn diagrams:

fcate Ifewfer cenfban MR taael f[oE
Al 8

AAI-1

EAE-4

What is meant by 'Paradox of Material

Implication'?
Igare efssifea Foreit Iece F @RI ?

Explain different principles of elimination

regarding Mill's experimental method.

1931 2Rl 2Ia o 510 SR s@efers
IRT <R
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3. Answers any two questions: 10x2=20

@I BB 2Aeda Ted 7l ¢

a)

b)
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Use the truth-table method to test the validity
of the following argument: 3+3+4

ToARA Amfed AR e gfeala @arel
[BRERE&IE

i) p>(@Qvr)
qQ.)D~ /o~
i) p>D(q>Dr)
q /<2rDp

iii) THON.B)
~N /.:~T
Test the validity of the following syllogisms

by means of Venn diagrams: 5+5

e Yfewlhr ceabras e @rel ko

AT ¢

i)  None but Holy men are really to be
envied. All truly wise men are Holy men;
therefore, all truly wise men are to be

envied.

&9 4ifife e i sfia 22| e age
e+l <fe 27 41, Ol 716 ape el fie
23 {9 #{fa |
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11)  All men are liable to error; Saint being

men are liable to error.

e ANRER AN AR N0 A TR
2GR CIMRE AN T[] SN2 |

What is a hypothesis? Discuss different

criteria for the evaluation. 10

A% IS AT 2 28 LoV e et Sl
|
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